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INSTRUCTIONS TO CANDIDATES

© blue/black ball-point pen i Liw space abuve and on both sides of the OMR Ansier Sheetl
wminutes of the ssue of the Question Hg ; e Question Booklet o ensure that

nns all the pages in correct sequence that no page /qMgtion is missing. In case of faulty
cwo10n Booklet bring it to the notice ‘ntende N atars immediately to obtam o
fu sh Question Booklet.
sring any loose ]‘T‘!I‘!"E wl inside inati@ Hall except the Adnet Card

your Roll Number in the space

e bottom. Also, write the Question
Booklet Number, Centre Cod e Set Nug#ber (wherever applicable| in appropriate
places.
' . Ouestion Booklet No. and Set No. [if any) on
and O nswer Sheet Serial No. on the Question Booklet
¢ verified by the Invigilator, otherwise it will be taken as

OME Angwer Sheet and also Roll
i change i the aforesaid entries is
anfar means.

Fach gquestion in this Booklet is followed by four alternative answers, For each question, you are to
rocord The correct aption on the OMR Answer Sheet by darkening the appropriate circle in the
corresponding row of the OMR Answer Sheet, by ball-point pen as mentioned in the guidelines given
o the {rst page of the OMR Answer Sheet.

f'or each guestion, darken only one circle on the OMR Answer Sheet. If you darken more than one
eircle or darken a cirele partially, the answer will be treated as incorrect,

Yote that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
‘vavee all the circles in the corresponding row blank (such guestion will be awarded zere markj.
For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

O completion of the Test, the Candidate must handover the OMR Answer Sheet to the Invigilato:
.11 the examination room / hall. However, candidates are allowed to take away Text Booklet and copy
uf OME Answer Sheet with them.

( andidates are not permitted to leave the Examination Hall until the end of the Test,
acandidate attempts to use any form of unfair means, he/she shall be liable to such punishmen:
s the Unversily may determine and impose on him/her.
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No. of Questions /¥l & ¥t : 180

Time/¥HY : 2 Huursfﬁr“? Full Marks,rt[yr‘kﬁ : 450

Note /1 : (1)

{100]

This paper consists of Objective Type Questions and is divided into
TWO Sections (I and II) as under :

T2 TH-T SgfEefd T W o @ 9 Q@ wel (1w ) § fave
2, s f& A= aftla 2 .
(a) Section—I consists of 120 Objective Type Questions on Mental

Ability, Quantitative Aptitude and General Knowledge & Current
Affairs.

(%) @os—I # 120 wEfoFcia w7 JAfE aran, ofem g #ed
AT HHTT FH 9 archiesd "eAelt woamaiE €

(b} Section—II consists of 30 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) @us—I1 # 30 =Efawefa w1 () s W R (i) fedh ww %
¥ W eneE 2

A candidate is required to attempt as many questions as he/she can of

Section—I, and questions of ANY ONE of the TWO Language papers

(i) English or (i1) Hindi in Section—II.

angeff & anifad 2 T w@us—I aun @RIl & (i) oHUst @ (i) &=

T FE * el g # g #i

Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for each unattempted

question.

YA T 3 3F F 2| AT e I+ AU uwm IdE Fe Sm|
Yeld STl W F WHE I B

1 (P.T.0.}
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1.

(100}

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afz wwifus SFfeus I Ol I F fwe wd9 ®@, @ fFeam of o
gl

(3] Each question is followed by Four alternative answers (i}, (2), {3) and
(4). Only one of these answers is correct. Select the correct answer and

record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

Yed® T F W d%feuh 3w g W E TR (1), (2), (3) awr (4) T
§ w0 R T W Ad UH A 30 OHA R W 3w ow owws Shw
AUl IH THEA F IW-F A dewrwrd v F owmy ARwgEn st g
(TTremé) 1 o Wi 9 g Fiar w6 g | '

Section—I
HUs—1

In December, 2015 which country has sent the first uranium consignment of
250 tonnes to India?

(1) Japan (2} Israel (3) Russia (4) Canada
femee, 2015 W R 2w 3 250 73 AT & o S W F aw7
(1) <9 (2) ToImET (3) ®H (4) FAT=T

Who became the first country in the world to approve a vaccine against dengue
fever?

(1) Mexico (2) India (3) China (4) Lybia

ﬁw%ﬁﬁaﬁmﬂﬁammﬁﬁmumhﬁgm?

(1) ufest (2) W (3) =m (4) offemr
2
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Union Government issued a notification regarding the long-pending
One-Rank-One-Pension Scheme for which category of people?

(1) Physically handicapped (2) Ex-serviceman

(3) Socially backward (4) None of the above

¥z amn 4 el sty A AT - dvf-uE-twm A ¥ swfRn sfime e
ot & @ % fe fofa feran?

(1) wHifes [a® (2) @ e

(3) W &Y 4 frog (4) IWH 4 ¥ FE 7

Internet is accessible to one crore passengers at 100 busiest railway stations in
India till 2016 and will later expand it to 300 other stations. Which organization

is working for this project?

(1} 1BM (2) Infosys (3} Google (4) Facebook

S016 @F 9FE § 100 A 7T VYA $ U g A6 9% e e R
a2 § 300 o WA 76 @ feha fEn smem, @ aREs & g - |

& W @7
(1) amdodlowmo  (2) FHITEE (3) T (4) HEIH

Which city has been selected as the host for the 2022 Commonwealth Games at
the Federation’s General Assembly in New Zealand?

(1) Johannesburg (2) Gauteng

(3) Durban (4) Pretoria

3 (P.T.O.)
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(100)

=Eies  hetvd S s A 2022 FHEIAFS T9 F AEH F T W FHEE AU
F TH A7

(1) EwHe (2) TH (3) TEA (4) fretfen

Which city was judged for UNESCO'’s wurld Heritage City tag for the year 2016 2
(1) Ahmedabad (2) Ranchi (3) Varanasi (4) Srinagar

T4 2016 ¥ fou et & @ 3@ TR 0 % AU R Tw o fofld e e
(1) ST (2) T (3) ot (4)

Meghnad Saha is known for his contribution in which one of the following
fields?

(1] Physics (2) Medical Science

(3} Environmental Science (4) History

e A Fefafas ¥ @ fra a9 F R areE # oo sm o s 80

(1) difoes fgm (2) Tofear fgm (3) wafem faam (9) sfoem

Who is the proponent and propagandist of the ‘Art of Living’?

(1) Maharshi Mahesh Yogi (2) Sri Ravi Shankar
(3) Swami Chinmayananda (4} Bhagwan Rajneesh
aE Atw fafan’ % wmew qwr gEEs w20
(1) wef§ wgw arh (2) #t e
(3) =it~ (4) WTaH TR

4
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Who is the First Air Chief to receive the honour of Marshal®?

(1) Arjan Singh (2) Satish Kumar Sarin
(3] S. K. Mehra (4) Yashwant Tipnis
‘mrte’ 1 WHH W HH 9 99N IEEAT W@ B 87

(1) smi7 e (2) wdte FUR wH

(3) THo o HEW (4) T fewiE

Which of the following pairs is not correctly matched?

Organization Headquarters
(1) International Labour Organization Geneva
(2) International Maritime Organization London
(3) International Monetary Fund Washington
(4) International Atomic Energy Agency New York
frofafieg § @ $9-T1 g9 99-5d gafsa T8 27

q57 IS
(1) g o He S
(2) sFwidia g WS s
(3) FFRIEHE Hg1 Y e
(4) sig soifde wifth SfeR =qaT

)

(P.T.O.)
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11. Which award is given for excellence in sports?

(1) Jamnalal Bajaj Award (2} Arjuna Award
(3) Tagore Award (4) Moortidevi Award
der i Pt ¥ R F-m g B w@ 27
(1) SIS F1H O (2) ¥ TN
(8) &M greR (4) el grm
12. The term ‘Deuce’ is common in which of the following two games?
(1) Basketball and Badminton (2) Badminton and Tennis
(3) Volleyball and Tennis (4} None of the abave
‘e T frafafiad # @ i 9 gl | @ R0
(1) sieheata qur defied (2) efiea aur hg
(3) afeftate aur 2 (4) ITH H A FE T

13. ‘Faster, Higher, Stronger’ is the motto of which international games evenlt?
(1} FIFA World Cup
(2) Olympic
(3) World Athletics Championship
(4) Afro-Asian Games

TR, B, W R S @ vedAl & ey 9 27
(1) e fova 9 (2) s
(3) fows wucifes Iframafig (4) THI-vfiET T

(100) 6
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Often we read in newspaper that some Government Projects has started on PPP
basis. What is the full form of PPP ?

{1) Preferential Payment Plan (2) Public Private Partnership

(3) Partial Payment Projects (4) Public Private Plan

& Wa: GHER 0 0 ugd § R $9 wehl uf@eed PPPT amum w yRey gu )
'PPP’ I U T 27

(1) TwpifEe fa= we (2) ufects wEae gd-fEm
(3) mitae TR WEew (4) ufeq WEde W

Alice in Wonderland the famous TV Serial, 1s based on a book written by :
(1] Charles Dickens (2) Thomas Hardy

(3} Lewis Caroll (4) Father Dicoste
w%g@hamﬁmmﬁﬁﬁg——%m%%awﬁwﬁa%
(1) =red fehm (2) arE FE (3) dfem F| (4) v Bwr=

The largest manmade canal in the world is :

(1} Rhine Canal (2) Panama Canal

(3) Suez Canal (4) Baltic White Sea Canal
zfan A waifus o ama ff TR

(1) T et (2) THT T8

(3) & T (4) wfeesh =gTse @i '

7 (P.T.0.)
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17.

18.

19.

(100}

Who is the father of Computer Science?

(1) Alan Turing (2) Adam Osborne
(3) John Moore (4) Neal Stephenson

Froq e & % # &7

(1) 3@ ST (2) TeH AEAH  (3) A (4) He ¥

Term BT is associated with which of the following crops?

(1) Rice (2) Wheat (3) Cotton (4) Oilseed
BT weg frefafea # ¥ frm woe & g=fam &7
(1) e (2) T (3) FamE (4) foee

On the packet of a packaged food product, what is the symbol that indicat
that the food is vegetarian?

(1) A green plus mark
(2) A green square in a circle
(3) A green leaf of a plant

(4) A green circular dot in a square

Hafed @ IR F A6 W W ©A 2, N g w2 odew v
&}

(1) B0 Sig %1 g (2) 99 % 7O A
(3) dtd i & wwh (4) 9 ¥ ¥ g fog
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20. The deficiency of which of the following leads to anemia?
(1) Ascorbic acid (2) Citric acid
(3] Folic acid (4} Nicotinic acid

ffafigs # @ fFaeh i & wwefloe @t 27
(1) wetd® o (2) WRiew e (3) wife emm (4) PereRPe o

21. The Government of India has established NITI Aayog to replace the :
(1) Human Rights Commission (2) Finance Commission

(3) Law Commission (4) Planning Commission
ard o 3 fras wm w fifg sm it wnen 7

(1) AHE AfFR =M (2) fm amd

(3) fafer amam (4) TISET AT

22. Who acts as the Chancellor of State Universities?

(1) Governor (2) Chief Minister
(3) Chief Justice of India (4) President
o 5 Rt & geoR ¥ w0 d A e &
(1) T (2) gewh

(3) A % g1 A (4) Tgufa

(100} 9 (P.T.O.)
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23.

24.

25.

(100)

After the General Elections, the Protem Speaker 1s :

(1) elected by the Lok Sabha

(2) appointed by the President of India

(3) appointed by the Chief Justice of the Supreme Court
{4) the Senior-most Member of the Lok Sabha

A GAE % ag FEE e B €

(1) drwaa g Fatfaa

(2) W % wgufa gro g
(3) J=H AAEE % ged AE g
(4) AT F HaiiUE aNE @ge

Which is the First National Park established in India?

(1} Velavadar National Park (2) Periyar National Park
(3] Bandipur National Park (4) Corbett National Park
"N T guH TP 3uE w87

(1) deEgr T¥E 3T (2) ofm e TEm

@) TR T I (4) FEe TP FaH

What is the ‘Kyoto Protocol™?

(1) A United Nations Resolution with a goal of increasing food production
(2) An International Treaty with a goal of saving endangered species

(3) An International Treaty with a goal of reducing major greenhouse gases

(4) A United Nations Resolution with a goal of eliminating terrorism

10



26.

27.

28.

1100]

18U/118/25 Set No. 1

ERIE TSl

(1) @ 3mreT gfy & @89 © wF GY% UT F T

(2) FheIE Sha sl A F wew ¥ frw v sl gt
(3) v@ Mewa bl # weR F RW F B w =g Gl
(4) IMdHaTE FAGA ¥ Ie¥ F o0 OF wL™ Y TE|

The highest Himalayan Peak in India is :

(1) Kanchenjunga (2) K2

(3} Nanda Dewvi (4) Nanga Parbat
wrE 4 I=aq forem firet @

(1) e (2) F2 (3) g1 <l (4) Fm &

The intensity of earthquakes is measured on :
(1) Beaufort Scale (2) Richter Scale

(3) Secant Scale (4) Mercalli Scale
vFey i figa wm ok o v g @

(1) g% @ (2) {5 @& (3) HF= w=hd (4) mfel S

Which Round Table Conference was held in 1932 ?

(1) First (2) Second (3) Third (4) Fourth

FH A A GO 1932 H g A7

(1) oge (2) g8q (3) @ (4) =ten
11

(P.T.0.)
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29.

30.

31.

32.

(100)

Where was the capital of Maratha Empire during Shivaji’s Rule?

(1) Raigarh (2} Sindhudurg (3) Poona (4) Kolhapur

Rl ¥ T Fe F oE wue g f TS FR oAt ?

(1) g ) Ryt (3) T (4) HIeER
Which one amongst the following is the Oldest Dynasty?

(1) Pallava Dynasty (2) Chola Dynasty

(3) Maurya Dynasty (4) Gupta Dynasty

fraifea § & F9 d98 YA TeEw 87

(1) 9g3 TsEW (2) I TSET (3) W TerEwm (4) TH TSET
Gautam Buddha gave his first sermon at :

(1) Vaishali (2) Sarnath (3) Kaushambi  (4) Pawapuri
tam gg 3 o YUW Va9 Fol fod u@1v

(1) Sumeft d (2) gy H (3) wiemeE H (4) T §

Taxila University was situated in :

(1) Pakistan (2) India (3) Bangladesh (4] Burma
Jerfsren favafaenem wg safem o7
(1) TiFEm ° (2) 9ra H (3) =emew o (4) =At #

12
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35.

36.
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Who was the last British Viceroy of India?

(1) Lord Lintithgow (2) Lord Wavell

|3) Clement Atlee (4) Lord Mountbatten
wrd # Hfm fafew s #8917

(1) =g femfema (2) e a9

(3) Fefm= weeh (4) ©E W&

In an economy, the sectors are classified into ‘public’ and ‘private’ on the basis
of :

{1} employment conditions (2) nature of economic activities
(3) ownership of cnterprises (4) use of raw materials
wiEe 0 &9 0 A W wEete o PR 8 affa 20
(1) TSy feafeat (2) snfifw nfa fafemt it vl
(3) 3|t =1 =i (4) F=ETH H THA
Which of the following is the farthest Planet to the Sun?
(1} Mars (2) Jupiter (3} Neptune (4) Earth
Frifrm i A g d A R 4
(1) T (2) gewfa (3) = (4) ge=t
The World’s longest river is :
(1) Nile (2) Ganges
(3] Amazon (4) Mississippi-Missouri

13 (P.T.O.)
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37.

38.

39.

40.

(100)

(1) e (2) T (3) STHSH

(4) Tfafidr-frid

Which of the following is the best conductor of the heat?

(1) Mercury (2) Silver (3) Leather
frifra § @ #1999 1 gaiod HaEE 87

(1) T (2) =mEr (3) =wE

A computer works on a number system.

(1} binary {2) octal (3) decimal
UF FFEI TF ——— HEA el W FH Wl g
(1) fgamurd (2) aHrFes (3) Shmm

Insulin i1s a kind of :

(1) salt (2) hormone (3] enzyme
tafm it § & fr SR 27

(1) T (2) BHA = (3) USTEH I

How many squares are there in a Chess Board?

o v A fEE § e R E

(1) 36 (2) 48 (3) 64

14

(4) Benzene

(4) &3

(4] hexadecimal

(4) edaTefme

(4) vitamin

(4) fafm =1

(4) 72
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In a cricket match ‘Kapil’ took one wicket less than twice the wickets taken by
‘Ravi’. If the product of the number of wickets taken by these two is 15, The
number of wickets taken by ‘Kapil® is :

 frhe ¥ g § Fiue grn o omn Tk, R F gw fow o R % gt A
g uw F9 21 ARk QA % g e e fed i gem w pEesa 15 @, @ w e

(1) 3 (2) 10 (3) 5 (4) 6

A rectangular field is 16 m long and 10 m wide. There is a path of uniform width
all around it, having an area of 120 sq m. The width of the path is :

(1) 1 m (2) 2 m (3) 3 m (4) 4 m

UF TEAER &3 f @@ 16 do gur dted 10 Ho B TWEH IW WH FHA TR
% TR R, AR TR W wEgY aed 120 o e B, @ T A dteE 2.

(1} 1 #io (2) 2 #o (3) 3 Hte (4) 4 Hie
Which term of the AP 3, 8, 13, 18, is 2487

g Aft 3, 8, 13, 18, ——— T FA-41 UG 248 27

(1) 49 (2) 48 (3) 51 {4) 50

How many members of two digits number are divisible by 5?
7 sil areht fred deand, 5 @ frsy @7

(1) 20 (2) 16 (3) 18 (4) 19

15 (P.T.0.}
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45.

46.

47.

48.

(100)

In triangle ABC, AD is the bisector of £ BAC. If AB =10 cm, AC =6 cm and
BC =12 cm, then BD is equal to

1) 75 cm (2) 4-5 cm (3) 6:5 cm (4) 55 cm

fiqe ABC ®; AD, £ BAC #1 THigawi® 21 e AB =10 RoWfle, AC =6 Horfto
A9 BC =12 Hotfte, @ BD &1 91 ® :

(1) 7-5 HoHo (2) 45 HoHlo (3) 65 Heoto (4) 55 Hoio

ABC and DEF are two similar triangles such that BC =4 cm, EF =5 ¢m and
area of A ABC =64 cm®. Area of A DEF is

(1) 125 cm? (2) 120 cm® (3) 150 em? (4) 100 cm?

Bqs ABC @u1 DEF % gwey finw & Rmd BC =4 Hodto, EF =5 Fotho aepr
A ABC #1 83%d 64 Hoflo? &, @t e DEF &1 &we 2

(1) 125 ®owfte?  (2) 120 Hodto?  (3) 150 HoHio?  (4) 100 Fowto?

The altitude of an equilateral triangle, having the length of its sides 10 ¢m, is
(1) 10 ecm (2) 75 cm (3) 5V3 cm (4) 5 cm

10 Howflo Yol ATl wHag frqet ¥ sfidfermar it wvam 2

(1) 10 Hotflo (2) 7-5 Horfto (3) 5V3 "offlo  (4) 5 Foto

PT is a tangent-segment to a circle from an external point P and PAB is a secant
of the circle intersecting the circle at points Aand B. If PA = 3 cm and PT = 6 em.
then AB is equal to

(1) 12 em (2) 9 cm (3] & cm (4) 15 cm

16
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(1) 12 Hotfto (2) 9 Yoo (3) 6 Hotfto (4) 15 "odto
Ifx=rcosasinf, y=rcosa cospandz=rsina, then x* + y? + 2% is equal to

g6 x=rcosasinf, y=rcosa cosp A z=rsing, d CrylrZ2FAR R

2 2
(1) 2r? (2) % (3) r? @) f'g_

If 0°< 0« 90° then solution of the equation 4 cos?0-1=0 is

afz 0°<0<90° @ 4cos?0-1=0 F1 & &

_}EZﬂ

- _x _
[1pe=2n — (2) 6= (B 0=o (4) 0 =

g
3° 6

Without using trigonometrical table, the value of
tan 1?2 tan 10° tan 20° tan 70° tan 80° tan 89° is

ECARULIG arfeterT I T foru o Bt
tan 1° tan 10° tan 20° tan 70° tan 80° tan 89° & "M 2
1

(1) 1 (2) 0 (3) V3 “ =

A vertical straight tree, 15 m high, is broken by the wind, in such a way that its
top just touches the ground and makes an angle of 60° with the ground. The
height of the point from the ground at which tree is broken is

15 153 15 15v3
2 3 Ay v
Mo mg® B pmw Gp—mm @

17 (P.T.O.)
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53.

54.

55.

(100)

e, H @el T g8 e S 15 do R, T A W YN g W @ & T
Fuf frm qfiee @ wd w@ ge, qfEd ¥ 60° F AW S W R ffEE ¥ 34
¥ @ w5 R

15 a0 15ﬁ 15_ 1, @) 153 o

2+3 JE 2-3 2 -3

(1)

A hollow cylindrical copper pipe is 21 dm long, its outer and inner diameters are
10 em and 6 cm respectively. The volume of the copper used in making copper
pipe is

(1) 1056 cm® (2) 2112 em? (3) 21120 em®  (4) 10560 cm’

F GIEd FOAER dfd w1 Uiy 21 oo T @ R IWe ;@ qul AE
= A 10 Hotffo gur 6 Holo T T A FH URY H WA F WE dqfd #
ST B

(1) 1056 Horfto® (2) 2112 Hotfo?

(3) 21120 Aorfto? (4) 10560 Hoiio3

A military tent is in the form of a right circular cone of vertical height 6 m. The

diameter of the base being 7 m. If 12 soldiers can sleep in it, the average cubic
metres of air space available per soldiers is

w A I aE-ge ug F w0 § @ @ Smdh sEhw SuE 6 e qwr 3en
AR F owEE 7 o 21 AR 12 AFNE W 2R W AW ¥ @ wew A F fo
Juerey Sited g (T W) o o H R

(1) 12-8 (2) 6 (3) 12 (4) 64

A cylinder, whose height is two-third of its diameter, has the same volume as a
sphere of radius 4 cm. The radius of base of the cylinder is

(1} 8 cm {2} 10 cm (3) 4 cm (4) 2 cm
18
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57.

58.
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T o H SO -39 AW F Q1 -fEE & s 2 9w W AU 4 Qoo ey
aet A & WA % Gy R doW & mm @ fiew 2

(1) 8 Hotto (2) 10 RFotfto (3) 4 otfto (4) 2 Worfto

The mean weight of students of a class is 46 kg. The mean weight of boys is

50 kg and that of girls is 40 kg. The ratio of the number of boys to the number of
girls is

el wen % oEl # AGd WK 46 Fomo R WeH w1 ftwa s 50 fomro amn
TefRal F1 ANET W 40 Thomto R WewH! i wew T el # wEw F: M
g

(1) 2:3 (2) 3:2 (3) 3:4 (4) 4:3

Cards marked with numbers 2 to 101 are placed in the box and mixed
thoroughly. One card is drawn from this box. The probability of a number
marked on the card which to be a perfect square is

% 2 ¥ 101 oF A "gEmei | gt el w o S § ot mg 8 e @
T | @ aa" ¥ UF w1 feen s 1 w1 w sifk dem ¥ pfad @ &
iRl (Safeferdl) 2

9 10 1 1
i o s 4y =
()72 (2) 751 Bl 4 3

The centroid of a triangle formed by the straight lines x-2y =0, x+ y =3 and
2x+y+4=01s

TEREH x-2y=0, x+y=3 U 2x+y+4=0 g T T P = F5®
(centroid)
(1) (-11, 17) (2) (11, 17) (3) [—% %} (4) [—l, EJ

19 (P.T.O.)
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59.

60.

61.

62.

63.

(100)

1 1 ]

n + —— IS
x+1 y+1 z+1

If x =log, b, y =log, ca and z =log_ ab, then value of

1 1 1
= - Hm — 5 ?ﬁ E—— + ﬂ Iﬂq
Ifg x =log, be, y =log, ca z=log, ab x+1+y+l — 2
(1) 0 (2) 1 (3) 2 (4) 3
The value of logﬁ 64 is
log ;; 64 F1 AH ®
(1} 6 (2) 8 (3) 10 (4) 12
The value of Iﬂgz[logz{log:;{log3{27’]3]}] 1S
log | log,{ log(logs(27)*)} 1 7
(1) O (2) 1 (3) 2 [4) 3

The monthly income of A and B are in ratio 4:5 and their expenditure are ir
ratio 2 - 3. If A saves Rs 400 and B saves Rs 200, then monthly income of B is

(1} Rs 1,600 (2) Rs 2,000 (3) Rs 1,800 (4) Rs 1,500

A Aq B R MiFE AW F HIE 4:5 T Fh =Y F oAU 2:3, g A F
a9 400 Fo YT B i s=d 200 %o @, 1 B I WiHE 7F B

(1) 1,600 %o (2) 2,000 %o (3) 1,800 %o (4) 1,500 %o

The population of a town is 50000. If in a year the number of males were
increase by 5% and that of females by 3% annually, the population would grow
to be 52020. The number of males in the lown at present is

feht w@ (ar3A) 1 sEEEn 50000 #1AR 9RO A HEew su, i om oA oAy
wfeenstt $ dEn 3% ufd o o= F Sedt R, @ MW dgw 52020 B 9H
2| gaum # =W (2EA) § @ f gen @

(1) 24000 (2) 25000 (3} 26000 (4) 27000
20
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65.

66.

67.

(100)
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25 .. i ;
A sum compounded annually become ~]—2 times of itself in two years. The rate of

interest per annum is

ﬁmmmﬁﬁﬂﬂﬁﬁf—:wﬁmﬁlwﬁﬁqﬁaﬁ%
(1) 20% (2) 30% (3) 22%% (4) 25%

The compound interest on a certain sum of money at 5% per annum for 2 years
is Rs 328. The simple interest, on the same sum for the same period at the same
rate of interest is

{1} Rs 300 (2) Rs 320 (3) Rs 310 (4) Rs 315

frdt o =1 5% wwdlg e f @ ¥ 2 A IFIG W 328 To B @I
T o F 3o @ wom o It s o |, qanw o @

(I} 300 %o (2) 320 %o (3) 310 %o (4) 315 %o

A merchant purchases a wrist-watch for Rs 450 and fixes its list price in such a

way that after allowing a discount of 10%, he earns a profit of 20%. The list
price of the wrist-watch is

(1) Rs 600 (2) Rs 580 (3) Rs 560 (4) Rs 520

TF FMA 450 o H UH TY F G GlEw ¢ 9 UL W (W W TER qfFA
w1 2 T 10% H FE I F AR i 20% F AN BT A I W fF T
2

(1) 600 %o (2) 580 %o (3) 560 %o (4) 520 %o

A man sold two horses for Rs 1,232 each. On one he gained 12% and on other
he lost 12%. The gain or loss amount in this transaction is

(1) Profit : Rs 36 (2) Profit : Rs 32
(3) Loss : Rs 30 (4) Loss : Rs 36

21 (P.T.Q}
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w sl @ NS F AW, wEE @3 W T e 1,232 %o #1 W W H
IQ%E-IIHF‘IES!THHT@‘T{IQGAﬁEﬁﬁlwmﬁﬁﬁﬁ?ﬂﬁmﬂ

SICE R i i
(1) & : 36 %o (2) &M : 32 Fo
(3) = : 30 %o (4) =f1 : 36 %o

x T
68. lfx.a=y:b=2z:¢ then—2+-~—+—-i—15¢:qualm

£l b? ¢

3 3 ZJ

T I XY
afg x.a—y.b-z.c,?ﬁ ?+F+F$T‘TFI'%
3 3, .3, .3
(1) [x+Y +z]2_ 2) :’CTJL%{__*Z?__..
fa+b+c) a? + b2 +c?
(3) . i (4) M
[a+b+c}g a+b+ec
69. The duplicate ratio of 2:9 is
2:9 F WioEd (gwfhe) UM @
= 1
(1) ¥2:3 (2} E:“lg? (3) 4:81 (4) 8:729

70. I 2x+3y:3x-2y=19:9, then x:y is
A 2x+3y:3x -2y =19:9, T x:y F AF 3

(1] 245 (2) 3:5 (3) 4:7 (4) 5:3

(100} 22



T1.

72.

73.

74.

1100]

Ten'’s digit of a number of two digit is greater by 7 than the unit’s digit. Sum of
digit is § of the number. The number is

g 3R h AT W GETS H HF THE b A% ¥ 7 w0 R W W I, I TEAq
%%%m%#m%

(1) 18 (2) 72 (3) 92 (4) 81

The difference between two numbers is 1365. When the large number is divided
by smaller one, the quotient is 6 and remainder is 15. The greater number is

3 gEme F AR 1365 B 99 99 HE ® Sf "Em ¥ wm G s R,
ITRE 6 a91 9 15 Sl B 9el gEd ¢

(1) 1635 (2) 1536 (3) 1563 (4) 1653

One pipe empties a pool in 11 hours. A second pipe empties it in 12 hours. How
long will it take to empty the pool if both the pipe are open simultaneously?

) 2 s 02 oo hews 48) Do WK 22 b
26 13 3 21

v udy feeft goz w1 we # wrelt T R0 gEU WY IH Fve &t 13 W
@t FT 21 Afe A URW w vEEY @i o 9, @ 398 @ @t ' § e
g2 7
1) 2L @ @ = ® @ 5 R @) 22 %

26

Some students planned a picnic. The budget for food was Rs 500 but 5 of these
failed to go and thus the cost of food for each member increased by Rs 5. How
many students attended the picnic?

Fo oF ks &1 @ fF| 6 WIS # F9 500 Fo R o1 g 3 9 S
g fats 78 W fed s TEEE 17 T T9F BE W AINA # G955 %o
95 a1 fF om fisfes M7
(1) 25 (2) 20 (3) 24 (4) 50

23 (P.T.0.)
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75.

76.

77.

(100)

. nin+l) .
The sum S of first n natural numbers is given by the relations § = — if

sum is 276, then the value of n is

n yom st wensd w1 A s b fr e omn g os = B 2 af wensi

(=4

F AW 276 2, A n B AW B
(1) 21 (2) 22 (3) 23 (4) 20
A journey of 192 km from Mumbai to Pune take two hours less by the fast train

than by the slow train. If the average speed of the slow train is 16 km/hr less
than that of the fast train. The average speed of fast train is

(1) 32 km/hr (2) 48 km/hr (3) 24 km/hr (4) 36 km/hr

gres # QU skl 192 Fhotfio & amm, demfa #ft 29 ¥ FW w, difinfa F I3-amn
¥, 2 9 w9 wma @ 2 afy dfifinfa & 33 oot nfa, demfa aeh 3 o
4 16 fpotfio/go =0 B, a1 A9 arell 29 ) fws nfa 2

(1) 32 fFodte /"o (2) 48 fHoHio/Ho

(3) 24 TRorio /7o (4) 36 fHotfto (Ho

Find the value of k, so that the quadratic equation (k +1) x* -2 (k-1)x+1=0
has equal roots

(1) k=0or k=1 (2} k==3 o0or k=2

(3] k=3 or k=4 4) k=0Oor k=3

foma = (k+1) x2 -2 (k-1)x+1=0 % 39 90 W90 3, & k 57 99 2

(1) k=0 H9a1 k=1 (2) k=-3 3A¥ya1 k=2

(3) k=3 Hual k =4 (4) k=0 ¥ k=3

24
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79.

80.

81.

82.
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HCF of the polynomials 18 (x? -9x? 4 8x) and 24 (x? -3x+2) is

aEEl 18 (x® -9x? + 8x) AU 24 (x? -3x+2) F FoHoTo 2
(1) 6(x+1) (2) 6(x-2)
(3) 6(x-1) (4) 6(x-1)(x-2)

In a group of 52 persons, 16 take tea but not coffee and 33 persons take tea,
The number of persons take coffee but not tea is

52 ARl & WYE W, 16 919 &4 ¥ fFq F6 T o9 v 33 =ufs 9w @ 3
= =fedt i gen St w 9d § ey ww o R

(1 7 (2} 19 (3] 36 4) 18

It is required to seat 5 men and 4 women in a row so that the women occupy the
even places. How many such arrangement of seating are possible?

5 TEN TN 4 HiEEmIM # UH @A # W UHEN 4A 2 5 ufeemd FIw wy g
I H W E 43| W e, Fhad YR ¥ S5 s SgEe gy 27

(1} 24 (2) 120 {3) 20 (4) 2880
The last three digits in the multiplication 12345x 54321 will be
U 12345 x 54321 H 3fed @7 AF gl

(1) 745 (2) 945 (3) 865 (4) 235

By what smallest number, 21600 must be multiplied or divided in order to
make it a perfect square?
vF uigrg @ w9 F fow 21600 H fFw wE@ S dewm @ m swEn wm oA
e ?
(1] 6 (2) 5 (3) 8 (4) 10

25 (P.T.O.]
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83.

84,

85.

(100)

How many numbers between 400 and 500 are exactly divisible by 12, 15
and 20 ?

(1) One (2) Two (3) Three (4) four
400 3t 500 ¥ e PR weard 12, 15 o 20 g ghfEE =9 @ s R 7
(1) o (2) @ (3) (4) =m

The daily wages of a worker increase by 20% but the number of hours worked
by him per week drops by 20%. If he was originally getting Rs 500 per week,
how much will he get now?

(1) Rs 400 (2) Rs 480 (3) Rs 360 (4) Rs 380

T gl F A el 20% ¥ gt B, fR I g0 PR wW w2 ) dwm ol
AR 20% ¥ Weal B dZ 98 god: ufd @HE 500 Fo WIH H TEl ¥, ¥H aw SR
e FHM?

(1) 400 %o (2) 480 %o (3) 360 %o (4} 380 %e

Mukul bought 80 kg of rice for Rs 1,200 and sold it at a loss of as much money
as he received for 20 kg rice. At what price per kg did he sell the rice?

(1) Rs 11 per kg (2) Rs 10 per kg
(3) Rs 8 per kg (4) Rs 12 per kg

gFed 7 1,200 Fo F 80 kg TEd @l N 20 kg 999 % fow g a9 399
s fFan, & @2 W oag fGm o v e e gew 4 =ma e

(I) 11 %o per kg (2) 10 %o per kg

(3) 8 %o per kg (4) 12 %o per kg

26
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86. A man covers first 20% of the distance at 10 km/h, next 50% at 5 km/h and the
remaining distance at 15 km/h. Find his average speed

(1) 7 km/h (2) 724 km/h (3) 7-89 km/h (4) 417 km/h

T HAfh 10 fhofo /a0 B 0 #1 vom 20%, v@w 5 fHofo /mo & 50% it o
gt 15 FFotllo /o B qu war 8| IaHt 3ftwd T wan Hifsr

\1) T oo /o (2) 7-24 THotio /Ho
(3) 7-89 THoHio /g0 (4) 417 fodto Ho

87. The average of squares of consecutive odd numbers from 1 to 13 is

1 9 13 7% UM fovg gemed F i &1 oitmd
(1) 70 (2) 65 (3) 75 (4) 66

88. At what rate percent annually compound interest will Rs 625 amount to Rs 676
in 2 years?

form =i o ufeea & 625 %o 2 AWl # WHglg @ H 676 Fo qWM?
(1) 3% (2) 2% (3) 4% (4) 5%

89. A tap can fill a cistern in 8 hr and another can empty it in 16 hr. If both taps are
opened simultaneously, the time (in hr) to fill the tank is

UF Aol UH I H 8 U A W I R A AW W 16 W ¥ wrht W W ) AR
2 9o THETY Gel ®, @ &% WA F o (¥ H) ?

(1) 8 (2} 10 (3) 16 (4] 24

100} 27 (P.T.O.}
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90.

91.

92.

(100

In an educational institution there are 15 more boys than girls. If the number of
boys is increased by 20% and number of girls is increased by 15%, there would
be 29 more boys than girls. How many students are there in the institution?

w Hufre gy § AghEd # s 15 st #1 ol wew H @@m 20% 7
A 2 o wefE f den 15% §g W 2, @t § 20 weh A Em|
geaF | A B 37

(1) 250 (2) 255 (3) 230 (4) 455

Four horses are tethered at four corners of a square plot of side 14 m, so that

the adjacent horses can just reach one another. There 1s a small circular pond
of area 20 m? at the centre. Find the ungrazed area

(1) 22 m? (2) 42 m? (3) 84 m* (4) 168 m?

o W2 14 o FEAR ¥ Uh W WR F AW A A @ ¥ W oy 39§ fw
ff fide + W12 TH-g@ F U@ w9 wh| 9@ Hm § 20 WP EF w o o
JeTEn A 21 A S & F SAwe 9 R

(1) 22 #° (2) 42 #t* (3) 84 =* (4) 168 >

A rectangular pool 20 m wide and 60 m long is surrounded by a walkway of
uniform width. If the total area of the walkway is 516 sq m, how wide is the
walkway?

(1) 43 m (2] 43 m (3) 3 m (1) 35 m

& 20 Hio el 3 60 Ho TET UH HYAGR T THANH 2R F ouw dEe
ot g frn 21 AR dewt At w1 Fa &9 516 @ WMo 2, @1 Yem wni R wiw
27 |

(1) 43 dio (2) 43 Hio (3) 3 #ito (4) 35 o

28



93.

94,

935.

96.

(100
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4 bells toll together at 9:00 AM. They toll after 7, 8, 11 and 12 seconds
respectively. How many times will they toll together again in the next 3 hours?

4 oAt 9:00 yaE & wwmy @l &1 I w7, 8, 11 IR 12 e ywm
s Bl 3 3 uel o fhaft wn 3 wwmw fm we?

(1) 3 (2) 4 (3) 5 4) 6

Find the number of divisors of 720 (including 1 and 720)

720 (1 3 720 @A) & 9 6 e e

(1) 25 (2) 28 (3) 29 (4] 30

What is the next number in the series given below?

= & i vt § el TEn e R0
2,6,11,17, 24, —

(1) 29 (2) 32 (3) 33 (4) 35

The average weight of 6 persons is increased by 2-5 kg, when one of them whose
weight is 50 kg is replaced by a new man. The weight of the new man is

(1) 65 kg (2) 75 kg (3) 76 kg (4) 86 kg

6 wfdl @1 3| &M 25 fHeme w7 W R, Aft I @ v =fe e g
50 fFoleo R 30% N W UF 74 e &l 1@ fd 9™ T4 =6 &1 999 2

(1) 65 fRomlo (2) 75 Twomro (3) 76 fFomo (4) 86 fFRemmo

29 (P.T.O.)
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97.

98.

99.

100.

101.

(100)

The population of a town was 10000 at the end of the year 2000. What will be
the population of the town at the end of the year 2002 if the rate of population

growth is 20% per annum?

r

a8 2000 ¥ @ # T AW H sEEn 10000 o AT FEEn g 7 o9
20% 2, ad 2002 F o7 ¥ AW H FAEE FT B ?

(1) 14800 (2) 16200 (3) 15400 (4) 14400

If 4a? + 8b* =12ab, then find a: b

Iz 4a? + 8b2 =12ab, T a: b FHFE
(1) 1:2 (2) 3:2 3 21 (4) 2:3

Between 5 a.m. and 5 p.m. of a particular day for how many times are the
minute and the hour hands together?

wF fasiy T % 5 a9 (dle N 5 o W & ffF fEa ew fime aim wr A
Al uwk Wiy w?

(1) 11 (2) 22 (3) 33 (4) 44

847-56+34-84 - ?=582-83

(1) 299-57 (2) 29847 (3) 146523 (4) 30067

0-000582 when expressed in scientific notation is :

I oA ughd d 0-000582 F Fh A @

(1) 582x10° (2) 5-82x10"%  (3) 5-82x10* (4) 5.82x%107°

30
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104.

105.

1100)
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(25-025/0-025) is equal to

(25-025/0-025) I ¢

(1} 10-01 (2} 1001 (3) 1001 (4) -1001
The value of 25-5[2+3{2-2(5-3)+5}-10]/4 is
25-5(2+3{2-2(5-3)+5}-10]/4 #1 O[

(1) 5 (2) 2325 (3) 2375 (4) 25
HA:B=2:3 B:C=4:5 C:D=3:% then A B-C+D is

af A:B=2:3 B:C=4:5 C:D=3:7, 9 A:B:C:D 2

(1] 24:36:45:105 (2} 12:36:45:105

(3) 24:36:65:105 (4) 24:48:45:105

A train travels from Delhi to Varanasi at the speed of 20 km/hr and from
Varanasi to Delhi at the speed of 30 km/hr. The average speed for the whole
journey is

(1) 24 km/hr  (2) 26 km/hr  (3) 25 km/hr  (4) 255 km/hr

uF 37 gl @ auoet 9% 20 fHoto/Ho H iy A worlht R ofw amomh @ R
% 30 fRotflo/Ho i 7fd & weict 21 Tl amn F fau sftwa nfa 2

(1) 24 fRotfte /g0 (2) 26 oo /Ho
(3) 25 fHorto /€0 (4) 255 FRotito [Ho

31 (P.T.0.)
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106.

107.

108.

109.

110.

(100)

If 12 carpenters, working 6 hours a day can make 469 chairs in 24 days, ho
many chairs will 18 carpenters make in 36 days, each working 8 hours a day?

ﬂﬁl?ﬁ@ﬁ,@ﬁ?ﬁéﬁamaﬂ%ﬁqﬁﬁggﬂﬂﬂﬁﬁ%, 36
T fA 8 U FW 18 wgs el Hradl s ?

(1) 1260 (2) 1320 (3) 920 (4) 1380
What is the digit in the unit place of 251 2

25! $ T wE § 3 F:B7
(1) 2 (2) 8 (3) 1 (4) 4

A train 300 m long passes a bridge in 15 scconds moving at a speed
100 kmph. Find the length of the bridge

(1) 11767 m (2) 11867 m (3) 11967 m 4) 11667 m

w% 300 o &l 27 100 Fhodfto/do # fd A W W 14 FFe A T yA F
F st 21 @ T

(1) 11767 e (2) 11867 o (3) 11967 Ho  (4) 11667 Hio

A room is 9 metres long, 7 metres broad and 3 metres in height. Find the cost
papering walls at the rate of Rs 50 per metre” ?

(1) Rs 4,800 (2) Rs 4,600 (3) Rs 4,200 (4) Rs 4,500

wF w9 9 die @, 7 diew "t o FuE A 3 Fiw 21 50 o wfy fem? A
¥ dan d e A $ Fma e

(1) 4,800 %o (2) 4,600 %o (3) 4,200 %o (4) 4,500 %
39798 + 3798 + 378 = ?

(1) 43576 (2) 43974 (3) 43984 (4) 549532

32
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111. 0.04x10" when expressed in decimal form is
Zyed ®9 A 0-04x10* # A #
(1) 4 (2) 40 (3) 400 (4) 4000

112. Which of the following is highest fraction?

freifed § 19 Ioem B 27

o 3 2
(1) 3 (2) a (3) 3 (4)

ol =1

113. The value of 36 -[18 -{14 =(15-4 =2x2}}] is

36 -[18 {14 -({15-4 +2x 2)}| W A §

(1) 23 (2) 24 (3) 21 (4) 25
114. Find X if (X/5)-(X/6)=4

afs (X/5)-(X/6) =4, @ X T

(1) -120 (2} -100 (3) 100 (4) 120
115. 5% of a number is 15. The number is

TF T F 5%, 15 B HE 2

(1) 150 (2) 200 (3) 250 (4) 300

116. Salaries of A, B and C are in the ratio 1:2:3. Salary of B and C together is
Rs 6,000. By what percent is salary of C more than that of A?

A,BWC%WWI?Z:S‘&%]Baﬂ"{Cﬂ%ﬁ?WE,UODEu%1
frg SRwm @ C T a0 A @ I 27

(1) 300 (2) 600 (3) 100 (4) 200

(100 33 (P.T.O.)
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118.

119,

120.

(100

If a 13 metres long iron rod weights 23-4 kg, then what will be the weight of
6 metres long iron rod?

(1) 72 kg (2) 124 kg (3} 108 kg (4) 18 kg

afg 13 i @ Al F 0T & @99 234 fRouie B, 7@ 6 Hw wH @w F B3
1 9T T A7

(1) 7-2 fHemo (2) 12:4 fHelo (3} 10-8 fFolTo  (4) 18 FHomro
If the cost of one dozen pencil is Rs 1440, The cost of 4 pencil is
(1) Rs 520 (2) Rs 4-80 (3) Rs 7-20 (4) Rs 660
afe v 7o dfE 1 Fa 1440 Fo 1 4 fgw i Fig 2

(1) 520 %o (2) 4-80 %o (3) ¥-20 %o (4) 660 %o

[(2%3)*] is equal to
[(2x3)%P =R @
(1) 36x36x36 (2) 12x12x12

(3) 6x6x6x6x6 (4) 2x6x6

X,Y and Z invested Rs 2,400, Rs 3,600 and Rs 4,800 in g business. Qut of a
profit of Rs 1,260, X’s share is
(1} Rs 280 (2) Rs 420 (3) Rs 560 (4] Rs 140

XY 3 z 3 @ =WR # 2,400 %o, 3,600 %o 3N 4.800 %o Fm fra
1,260 %o o A # X F feemy 2

(1) 280 %o (2) 420 %o (3) 560 %o (4) 140 %o

34



18U/118/25 Set No. 1

126. Enfice
(1) Refer (2} Repel {(3) Charm (4) Absorb

127. Resolute
(1) Uncertain (2) Crude (3) Filthy (4) Graceful

128. Annthilate
(1) Demolish (2) Beseech (3) Establish (4) Irritate

Directions : (Question No. 129-132) Select the correct meaning of the given
idiomatic expressions.

129. To bring home

(1) To excite great applause (2) Te make one realise clearly

(3) To produce (4) To publish

130. To harp on
(1) To talk about persistently
(2) To retain possession of
(3] To endure

(4) To frequent in a rathe aimless fashion

131. To sce through
{1} To be in agreement (2) To stay and witness

(3) To inspect (4) To detect the trickery

(100) 36
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Section—II
Qus—n
LANGUAGE : ENGLISH
(For Candidates Opting English Language)

fote . Four alternatives are given as possible answers to each question. Give the correct

choice as an answer.

directions : (Question No. 121-124) Select the word nearest in meaning 1o the given

21.

22.

23.

24,

25,

italic word.
Detest
(1) Expel (2) Examine (3) Uproot (4) Hate
Treachery
(1) Treasury (2) Betrayal (3) Usury (4) Banishment
Detrimental
(1) Harmful (2) Determined (3] Helpful (4) Disciplined
Vibrant
(1) Sympathetic (2) Monotonous (3) Exciting (4) Hateful
irections : (Question No. 125-128) Select the word opposite in meaning to the given
italic word.
Quack
(1) Arrogant (2) Wise (3) Pretender (4) Victim

.00j

35 (P.T.0.)



132. To work out
(1) To calculate

(3) To cooperate

Directions :
the given sentences.
133. Liome, 1 took off my uniform.
{1) Reaching

(3) Having reached

18U/118/25 Set No. 1

(2) To build up

(4) To repay completely

{Question No. 133-136) Select the right word(s) to fill in the blanks in

(2) Reached

(4) Being reached

(2) how to speak

(4) how is spoken

my point clear.

(3) have made (4) be making

134. She knows French.
(1) to speak
(3) speaking
135. | have cited examples with a view to
(1) making (2) make
136. Mr. Sharma has a new dictionary.

(1) written (2) made

(3) prepared (4) compiled

Directions : (Question No. 137-140) Select the correct form of the verb to complete

the following sentences.

137. No sooner did 1

(1) entered (2) enter

(100)] 4

the room than the students stood up.

(3) had entered (4} have entered

(P.T.0.)
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138. We your greetings yesterday only.
(1) have received (2) receive
|3) had received (4) received
139. She me since her childhood.
(1) 1s knowing (2) knows
(3) has known (4) has been knowing
140, If she here, we could start the function.
(1) were (2) 1s (3) has been (4) had heen

Directions : (Question No. 141-144) Choose the correct preposition for each blank,

141.

142.

143.

144.

(100}

There i3 unrest

the university campus.

(1) in (2) on (3) at (4) into

I object being called a liar.

(1) for (2) at (3) on (4) to

The document should be written blue ink.

(1} in (2) with (3} by (4] on

We thoroughly discussed the plan.

(1) about (2) on (3) over (4) None of these
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Directions : (Question No. 145 and 146) Choose the correct alternative for each

blank,
145. Give me one-rupee note.
(1} & | (2) an (3) the (4) No article
146. This is —— engineer whom 1 was talking about.
(1} a (2) an (3) the (4} No article

Directions : (Question No. 147 and 148) Select the word which has been wrongly

spelt.
147. (1) Comparision (2) Receipt
(3] Superintendent (4) Career
148. (1) Attendance (2) Allotted (3) Priviledge (4) Dependent

Directions : (Question No. 149 and 150) Select the part of speech of the underlined
word in the given sentences.

149. Who will man the ship?

(1} Noun (2) Pronoun (3) Adjective (4) Verb

150. Hers is a good book.

(1) Noun (2) Pronoun (3) Adjective (4) Verb

(100) 39 (P.T.O.)



18U/118/25 Set No. 1

e

151.

152.

153.

154.

(100)

Section—II

EG LS i |
wreT—f=h
(fht 32 ot Tt o ferw)

At SET (1), (2), (3) T (4) FHE F TR-=R Abicieh I fad 7 7, e = o
& @ 9 3 | 39 a8 I FH g

‘e’ Tids A H AWE HA 87

(1) W= EhTEs (2) T Y
(3) I (4) 9@ A aui
o F M F oEd bl uE AW FEEG i)

(1) ifeawrg =4 (2) Wereelt ami
(3) THE™T T (4) IHEE
‘wgaet o1 T ¥ FEE F dEF T €

(1) sH= FAR (2) STAYH AT
(3) *fer A (4) T

G g fea fan @ wafE w7
(1) e (2) A (3) Terfra (4) T
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155. ‘Arad e ot @ ooy, R ofva & e g @ 27
(1) Y&t g0 (2) W= g (3) s (4) fd 3o

156. ‘droerm a9 wegey 6 = 77

(1) GUeHA (2) TFF FA (3) WY F (4) TR

157. ‘mmaf=w1 fF9 w=fa i = 27

(1) Tém (2) HearE (3) vrEgH (4) g™

158. ‘Fwr fraeet e A1 R Y
(1) qerdie™ (2) g&E (3) AgEm (4) TEMR Wg

159. wgEt 1 ‘wmad’ fem owm § dEE 27
(1) @ e (2) sradt (3) FTET (4) 33 s

160. ‘FHamam # g * w@E BH 87
(1) ge (2) ¥ A (3) ImaeTd PR (4) REwEr FR

161. ‘Ha ghweg fea B f = 7
(1) F1oq (2) AE (3) T (4) Ty

(100] 41 (P.T.O.}
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162.

163.

164.

165.

166.

167.

168.

(100)

‘gm?ﬁaﬁam'ﬁmaﬁtmﬁ?

(1) e ot (2) G Tgae
(3) fert (4) HreTerer Rad

Hd % AMT W Owret weg fhe @l @ 2

(1) ¥ (2) faaeh (3) 2T
freafafga 4 #1 st TN 1 W@y @ E?

(1) (2) W2 (3) U
fig ¥ 4 weg U@ & wAigard #7?

(1) weras (2) S (3) Het

fre § %1 veg wyeEEs @ Td 27

= o

(1) ==9 (2) wigshd (3) &

fa d & #9-m v S w1 wivEst ad 2

(1) == (2) A (3) @

g w1 oA faem swte fifs
(1) fage 2) fy (3) g
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169. ‘S F #@ feelm T A

(1) &« (2) S8 (3) 3mem (4) ¥R
170. ‘fo W F AF-TUZ ¥ 0F Wec F1 909 Hifw

(1) 3 (2) &y (3) FTEd (4) AR
171, "I sw ke A @ S —am § we-w aen T 87

(1) Far= (2) wEET= (3) FHar= (4) HgeAT=

172. T g =g N qEEt w1 9 o aa 27
(1) fiet firrm (2) & HaE (3) T F TE  (4) W @

173. ‘%@Wﬁﬁmw’ﬂﬁmmmaﬁwﬁﬁﬁm1
(1) SE9d F1 F (2) r\am =afF
(3) - BIHL FH FLAT (4) TR w1 HeH
174, ‘3 W Hil IgAT gEE F AE o T 27
(1) @ I (2) FUum sm@ w
(3) %AE AT (4) T A

175. ‘3g@ w1 §dl df-fasse w1 27
(1) 3 + &@ (2) 3 + =9 (3) 3 4 @ (4) 3 + ©@

(100 43 (P.T.0.)
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176.

177.

178.

179.

180.

‘TEfta qEE 6 e e g R | g8 R 7

(1) Hfad @4l

(2) St

‘RaTE wes § HA-T I w27

(1) =

(2) &

‘Gz’ e H FH-A T S R 7

(1) =

(2) &1

‘sma W oad g Fn wm e

(1) & H° M4

(2) TAUH

‘s =1 md difom agfE fifs

(1) 3fat

(2) sty

44

(3) grer-<arg

(3) =19

(3) #Hid

(3) I

(3)

(4) T 9q

(4) <1

(4) T

(4) "

(4) A

D/8(100)—67
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